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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the followmg questions as directed :

(any ten) 1x10=10
were fam Wﬁmwﬁﬁmﬁm
(Rezizat wabt)

(a) " The process of converting thc message

into communication symbol is known as

(Choose the correct answer)

IS Q@ Beta weoies 74 efdEn
CPINCBT AT Tl A2

| (P Tt AR Biean)

(i) encoding

AS! FFeT
Contd.



(i) decoding
. - St
(ifi) transmission
(2R
@) recoding
| o e
-(b)

Informal commumiccsc... |
by Wr}rlrlla}l1 communication is characterised
ch of the following distinctiveness ?

{Choose the correct answer)

W#wa
mqmwmﬁﬁf?w@amm

. - (7% Tewhy R oEea)
()  Task-orienteq |

Fd
() People-orienteq
{lll) POSiﬁOn-
Gl
() Stru‘;‘t“’re‘ol‘iented
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() Motivation is a stimulation of mind under
the management function of .
(Choose the correct answer)

TR G TR BerRds st fewe
! ~RpIemiT IR TELE ?
(113 Tewcs AR Tfersd)
(i) directing
otmr
(i) drganising
FRANSR I
(iii) controlling
AR a8
(iv) co-ordinating
s I
(d) Control exercised by lower level managers
is (Choose the correct answer)
et (A% Tewehr IR Tlereq)
(i) strategic level control
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| () Which of the following roles of a manager -

(ii) tactical level control | is important to defeat grapevine ?
e srifTe Fagd ' (Choose the correct answer)
. (iii) operating level control R oo TR R SHRBIT PG
IR R Fmmy : ' ot oS eTaEa ? N
L : | (i3 Tewhr AR TGN
- (iv) None of the above )M ot ol .
S IR T (i) anagement ro e
ARBIeR o

(e) Which one of the folloi;ving.human needs

of Maslosz theory also finds recognition | e ok
in the motivational theory of MeClelland ? | o |

| (Qhoose the correct answer)
CHSY OG1 Traie i

(ii) Interpe'rsonal‘ role

(i) Informational role

e et wroi crifizeren o Sl By IR gt
o %T% Eﬂ@ TR : (iv) Decisional role
o (T T 9k ) | SraTa o
(i) Psychological need . . .
R A ey R | (g) Providing information to top management

by financial manager is his/her

(i) Securi ‘
- Security need (Choose the correct answer)

(iti) EITT S | A ARpIeE TS YR @A A R
need : AT 3 (13 Tt AR Bfersdr)

p A mr\”ﬁ‘ﬂ'@l : = (i) recurring function

W) Ego neeq ' N Tsoffie s
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- (i) Nonrecurring function

SRR i
(i) ‘routine function
(iv) advisory function

AT

Which of the
Inancial decision~makjng ?
(Choose the correct answer)
REARSLLG R B TS Sp——
| (1% Tewsr Az SRS

.(i) Investment decision
R P

i) Financial decisigy

(i) Dividenq. decision

(i) ALl of the abové

T R

6

following is a part of

()
demographic segmentation of market ?
" (Choose the correct answer)
ARG (PN SRR SIS I8 Roswe
weE e (N Tewch! AR Tied)
(i) Gender '
e
(i) Age
I
(i) Education
k3
(iv) Culture
S
() Who introduced the concept of
‘marketing mix’? '
- (Choose the correct answer)
TP IR LR (I TS isfesi 2
(% Tewor AR Tfereqn)
() William J. Santon =~
4 (Sem-1/CBCS) BOM/G 7. Contd.

Which of the following is not included in




|
|

(i) Philip Kotler

=&t %"

(1] Henry_ L. Hemen

() N.H. Borden

(k)
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Mobile hand-set’ is an example of

(Choose the correct answer)
TR (= BF RO (s e TRl ?
G Tewst e A6

(i) perishable goods

IR Ay

() non-durable ‘goods |

w@m

(lll) durable goods
2R Ay

(iv) None of the ébové
ARG <Bie oy

8

@

Fast food outlets like KFC is an example
of which marketing technique ? A
(Choose the correct answer)

we A Rl (% @@ KFC, NIRIe &Nt

Retm tafe? (0 BeRCT AR Brea)
() Product franchising |
A i
(ii) Business-format franchising
| TR A2OR FHIR™R
' (iii) E-commerce
(iv) Retailing
4t Reter

(m)

n .

Marketmg begins and ends with
(Fill up the gap)

TR Wﬁ@ﬁ oS RS EnE

oS = | (Tt 312 979 W)

The sole trader’s liability for the debfs
of the business is

(};‘ill ué the gap)
mﬁmw YT (7l W | |
(waﬁéﬁ‘ +79 1) -
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(o) -

The Indian Partnership Act, which

- governs the formation and management

)

@

M
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' @"%‘WWWW

of partnership organisation in India.
» (Fill up the gap)

SR AR w3 wfters SROS
- SICTRIR P ot i st 2l
- (A 33 779 )

. .
r:e max1mum number of partners
bust be __ for g firm Cal'l’ylng on

anking busmess (Fill up the gap)

SIS
(T 12 of79 )

WT@®|

a
greement Whlch can be oral or ertten
(State True or False)
SRR -
| bt R 31 i pwiarat 707

(State Trye or False)
Ty

W""t*lﬁas QT s =2
B (0% @ o5 &)
‘10

A pa
P rtnershlp is the result of an |

(8% 7 o5 )

(s)

(t)

Joint stock company’s shares are easily

transferable. (State True or False)

Joint stock company I SIRAAITRR TS
I I AR (9% 7 Tu7 [&3)

Planning involves an intellectual

exercise. (State True or False)

AR T2 WH-TR SO
(3% 7 o7 f&3)

Answer the following questions briefly :

(any five)

2x5=10

fCRITa 5 T i ¢ (R “A551)

(@)

(b)

(c)

(@)

What is service sector ?

il 48 W & 2

What is globalisation ?
(NIRRT A B 2

What do you mean by outsourcmg?

Tt W B B

Define sole trading business.

siz-oba IeT ke W
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: : e} W
( | (e) nte a note on Jomt Hindu family

I: . firm. . o (b) Write thé features of franchising.

l||] o | ,WW%WW@WQW (Brent foralt | | ' @‘*SWWE TafEPRR !

'H, - 1, - What is matrix organisation ? (c) Wnte the 1mportance of delegation of
[I!! 5 ' | ‘ Matnx orgamsatlon W= & oy | S authority.

a (9). What is delegatloﬂ Of authority ? | g AR TR ST sall

i o e W Rl : : (d) What are the problems associated with
small enterpnses ? Explain.

I‘| W  Define leadership.
B SR A G S

v TR Rw fra

g - : : o
A () What i : : |
s : : . SEBI %S;B: ? () ,:;z the merits and demerits of equity
0 | Z}z;z:éqrﬁmérge 2 | S e AR I PR T
| ce sn-m &9 | : S
e prite short. answers - | (9 write a note on ‘Make in India’
: ollowing : o any four of the Movement.
| :;ﬁ TW Fﬁ%ﬁ?s;l%@ Bt s 5x4=20 . ‘Maké in India’ SITHREIRY @99 <ot (BI
', ! : bur;tii;?te (')n social fesponsibility of ﬁ"_“"' e limitati ‘ '1
3 - o (g) State the hmitd ons of planning.
‘l’ WWWGW@WW‘ WWWWWW|
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Herzberg '
8 two-factor Cran
| | BT 3t <41 |

(b) DeSCribe.‘

14

(c)

(d) Explain the various

(e) Define partner

" 4 (Sem-1/ CBCS) BOM/G

() Wha

Explain four basic principles of
making. Also state the
approaches in decision-making.
Bt SR o el CEURIR IR
s a2 PRIS 4T ST 31 |
bases of
the benefits

decision-

departmentation. Also state
of departmentatioh.
o Rfea fefeng T el
FoIMETl FRUPTR Tl

ship. Explain its major
advantages and disadvantages.

wﬁmﬁ’immwﬁm|.mmaﬁmm
spyRaETd o i

t is sole proprietorship ? State its
features. Explain the advantages and
limitations of this form of business -

organisation.
S T W B 2 2 ey Fan
STl TR AR SN ST 0t

izl
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- (9) Define human resource inanagement ‘
Explain its functions.

TR T ARG et it | 21T e
R W | ‘
() What is meant by financial

management ? Discuss the objectives .
of financial management,

TP SCEsAL < |

() What is pricing ? Briefly explain the
. various pricing ‘policies adopted by
companies. -

A R 2 e N RSICER
TR icewest gy 2| -
() What is product life cycle ? What are

. the differcnt stages of 'product life
cycle ? ‘ S

Rfen srfiwnz & &2 '
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